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BfE B: 5055088208 WAV EU=D3T
I&fiz K & Bt | E | E6D GR |HDCP | NET (]
Bk WEE 1A 33 38 71 40 | 670
HEEIHWE BN 36 42 78 | 100 | 680
3 BH B 36 44 80 | 120 | 680
4 |6F ¥Ho 38 37 75 60 | 690
5 |BK & 40 40 80 100 | 700
6 #B B 42 39 81 110 | 700
7 ;m0  ftmh 40 42 82 120 | 700
8 NH ‘BB 41 42 83 120 | 7110
9 EM X 42 39 81 90 | 720
10 %% B 44 39 83 100 | 730
11 /\BE BX 38 38 76 20 | 740
12 WA IEE 37 40 77 30 | 740
13 | WFE &8 39 40 79 50 | 740
14 |S& 83A 41 40 81 50 | 760
15 BN 28X 42 40 82 60 | 760
16 % {B— 39 47 86 100 | 7160
17 [P 67 46 42 88 120 | 7160
18 |0 3F5% 38 41 79 20 | 770
19 & = 39 44 83 6O | 770
20 P& = 46 40 86 90 | 770
21 |[IRA %) 44 43 87 100 | 770
22 |LE BE 40 41 81 30 | 780
23 [FBAX  1EHl 42 40 82 40 | 780
24 |x08) mUE 44 39 83 50 | 780
25 |% 1886 40 45 85 70 | 780
26 |B5H &= 45 41 86 80 | 780
27 |[2F 188 45 44 89 110 | 7180
28 | 35 45 45 90 | 120 | 780
29 |TBE EW 40 40 80 10 | 790
30 | HKX FEib 45 42 87 80 | 790
31 |8l = 43 46 89 100 | 7190
32 /K 81 43 46 89 100 | 7190
33 |NHE @ 41 49 90 | 110 | 7190
34 #%g 44 46 90 | 110 | 7190
35 B8R {&BS 47 44 o1 120 | 7190
36 |&H BE 41 46 87 70 | 800
37 [ X 40 50 90 | 100 | 800
38 | 6N, BIA 47 45 92 120 | 800
39 EH #0H 50 42 92 120 | 800
40 |IkEB BE 42 50 92 120 | 800
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BfE B: 5055088208 WAV EU=D3T
I&fiz K & Bt | E | E6D GR |HDCP | NET (]
41 [IREK Ye— 45 42 87 60 | 810

42 &R HT 42 45 87 50 | 820

43 WK FE 45 48 93 110 | 820

44 WA 59 47 47 94 | 120 | 820

45 |58 s 44 46 90 70 | 830

46 | KB B— 45 47 92 90 | 830

47 |fh IR 8 51 41 92 80 | 840

48 TN R 45 50 95 110 | 840

49 KNI & 47 44 91 60 | 850

50 WX HNR& 39 58 97 100 | 870

51 )l ZEW 50 45 95 50 | 900

52 MR IEfS 58 45 103 | 100 | 930
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BfE B: 5055088208 WAV EU=D3T
I&fiz K & Bt | E | E6D GR |HDCP | NET (]
BB 6B 43 40 83 150 | 680
EE B 7o 42 43 85 170 | 680
3 |88 8= 39 44 83 130 | 700
4 fIts B2 42 43 85 150 | 700
5 D0 883 42 43 85 140 | 7110
6 B2 B 41 46 87 160 | 7110
7 |fEB 8- 46 43 89 180 | 7110
8 |F%H I 40 47 87 150 | 7120
9 | XEH Q& 45 42 87 150 | 7120
10 BX BE 46 42 88 160 | 7120
111t = 46 45 91 170 | 7140
12|LW0 E5— 45 44 89 140 | 7150
138 &= 44 45 89 130 | 7160
14 L)l 8Z 47 44 91 140 | 770
15 |BH =% 47 48 95 160 | 7190
16 RXK 7t 48 49 97 180 | 790
17 388 RS 50 43 93 130 | 800
18 g = 44 49 93 130 | 800
10 |1£%F =R 47 50 97 170 | 800
20 =H EB= 54 44 o8 180 | 800
21 TH & 45 51 96 150 | 810
22 |0 = 46 50 96 140 | 820
23 fols  Fk 48 51 99 170 | 820
24 |58 BT 45 54 99 160 | 830
25| K6 % 45 58 103 | 180 | 850
26 EHE = 47 53 100 | 140 | 860
27 |\t =B 50 54 104 | 180 | 860
28 &% B\ 48 56 104 | 150 | 890
29 |eB BE 51 65 116 | 180 | 980
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BfE B: 5055088208 WAV EU=D3T
I&fiz K & Bt | E | E6D GR |HDCP | NET (]
B PFE | 45 41 86 | 220 | 640
B8 U7 m 43 44 87 | 220 | 650
3 B B 43 45 88 | 230 | 650
4 | HE FA 41 45 86 | 200 | 660
5 XRB R 47 43 90 | 220 | 680
6 |EB BE 50 42 92 | 220 | 700
7 |l T=F 51 48 99 | 280 | 7110
8 AR BR 44 48 92 | 200 | 7120
9 Bl HB— 47 46 93 | 210 | 7120
10 |WIB K# 50 43 93 | 200 | 730
11|88 & 46 50 96 | 280 | 730
12 % BX 42 52 94 | 200 | 740
13|88 % 50 44 94 190 | 7150
14 kB B’ 55 54 109 | 340 | 750
156 = 46 50 96 | 200 | 760
16 WA —il 52 51 103 | 270 | 760
17 |88 216 51 45 96 190 | 770
18 |IRA =g 49 59 108 | 310 | 770
19 |WF RS 46 53 99 | 200 | 790
20 BB % 60 46 106 | 240 | 820
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